

Jñānābha, Vol. 55(2) (2025), 37-41

LI'S RELATION INVOLVING THE NUMBER OF REPRESENTATIONS OF AN INTEGER AS A SUM OF SQUARES AND APPLICATION IN DIFFERENCE EQUATIONS

J. D. Bulnes¹, R. C. Singh Chandel², Hemant Kumar³,
 P. Siva Kota Reddy⁴ and J. López-Bonilla⁵

¹Departamento de Ciencias Exatas e Tecnología, Universidade Federal do Amapá, Rod. Juscelino Kubitschek, Jardim Marco Zero, Macapá, AP, Brasil-68903-419.

²Former Head, Department of Mathematics, D. V. Postgraduate College Orai, Uttar Pradesh, India-285001.

³ Department of Mathematics, D. A-V. Postgraduate College, Kanpur, Uttar Pradesh, India-208001.

⁴Department of Mathematics, JSS Science and Technology University, Mysuru, India-570 006.

⁵ESIME-Zacatenco, Instituto Politécnico Nacional, Edif. 4, 1er. Piso, Col. Lindavista, CDMX, México, CP-07738.

Email: bulnes@unifap.br, rc.chandel@yahoo.com, palhemant2007@rediffmail.com
hemantkumar.kn03@csjmu.ac.in, pskreddy@jssstuniv.in, pskreddy@sjce.ac.in, jlopezb@ipn.mx

(Received: February 06, 2025; In format: March 16, 2025; Revised: September 18, 2025;

Accepted: September 22, 2025)

DOI: <https://doi.org/10.58250/jnanabha.2025.55205>

Abstract

The formulae for the sum of inverses of odd divisors of an integer n are deduced by various authors in the literature. Here, in this paper, we exhibit that their expressions are related by certain identity of Li involving the number of representations of n as a sum of squares.

2020 Mathematical Sciences Classification: 05A17, 05A20, 33C45, 11E25.

Keywords and Phrases: Stirling numbers, Li's expression, Integers as a sum of squares, Jha's and Glaisher's relations, Sum of inverses of odd divisors, Binomial transform, Bell polynomials, Theta functions.

1 Introduction

The formulae for the sum of inverses of odd divisors of an integer n are deduced by Jha [4, 14] and Glaisher [9,11]. Here, in this paper, we exhibit that their expressions are related by certain identity of Li involving the number of representations of n as a sum of squares.

Jha [4, 14] obtained the following expression for the sum of inverses of odd divisors of a positive integer n :

$$2(-1)^n D(n) := 2(-1)^n \sum_{odd|n} \frac{1}{d} = \sum_{j=1}^n \frac{(-1)^j}{j} \binom{n}{j} r_j(n), \quad (1.1)$$

where $r_k(n)$ is the number of representations of n as a sum of k squares [1, 12, 19]. On the other hand, we have the Glaisher's result [9, 11]:

$$2(-1)^n D(n) = \sum_{k=1}^n \frac{(-1)^k}{k} R_k(n), \quad (1.2)$$

where $R_k(n)$ is the number of representations of n as a sum of k nonvanishing squares [12].

Li [16] deduced the relation:

$$R_k(n) = \sum_{j=1}^k (-1)^{k-j} \binom{k}{j} r_j(n), \quad n \geq 1, \quad (1.3)$$

In Sec. 2 we exhibit that (1.2) and (1.3) imply (1.1). Again, we obtain the inversion of (1.3). In Sec. 3 we show that $D(n)$ has connection with the Jacobi theta functions.

2 Glaisher, Jha and Li formulae

From (1.1), (1.2) and (1.3):

$$2(-1)^n \sum_{\substack{\text{odd } d \\ |n|}} \frac{1}{d} = \sum_{k=1}^n \frac{1}{k} \sum_{j=1}^k (-1)^j \binom{k}{j} r_j(n) = \sum_{j=1}^n (-1)^j r_j(n) \sum_{k=j}^n \frac{1}{k} \binom{k}{j},$$

where we used the property [22]:

$$\sum_{k=j}^n \frac{1}{k} \binom{k}{j} = \frac{1}{j} \binom{n}{j}. \quad (2.1)$$

We know [15, 24] that $r_k(n)$ is a polynomial of degree n , in k with the structure:

$$r_k(n) = \sum_{l=1}^n a(n, l) k^l, \quad (2.2)$$

such that:

$$\begin{aligned} a(n, n) &= \frac{2^n}{n!}, \quad n \geq 0; \quad a(n, 1) = 2(-1)^{n-1} \sum_{\substack{\text{odd } d \\ d \ln \frac{1}{d}}} , \quad n \geq 1, \\ a(n, n-1) &= -\frac{2^{n-1}}{(n-2)!}, \quad n \geq 2; \quad a(n, n-2) = \frac{2^{n-3}(3n-1)}{3(n-3)!}, \quad n \geq 3 \\ a(n, n-3) &= \frac{2^{n-4}(n+2)(3-n)}{3(n-4)!}, \quad n \geq 4, \quad \text{etc.} \end{aligned} \quad (2.3)$$

For example [12, 15, 26]:

$$\begin{aligned} r_k(1) &= 2k, \quad r_k(2) = 2k(k-1), \quad r_k(3) = \frac{4}{3}k(k-1)(k-2), \\ r_k(4) &= \frac{2}{3}k[3(2k-1) + k(k-1)(k-5)], \quad r_k(5) = \frac{4}{15}k(k-1)[3(2k-3) + k(k-4)(k-5)], \\ r_k(6) &= \frac{4}{45}k(k-1)(k-2)[45 + (k-3)(k-4)(k-5)], \\ r_k(7) &= \frac{8}{315}k(k-1)(k-2)(k-3)(k^3 - 15k^2 + 74k - 15), \dots . \end{aligned} \quad (2.4)$$

The application of (2.2) in (1.3) gives the interesting expression:

$$R_k(n) = k! \sum_{l=1}^n a(n, l) S_l^{[k]}, \quad (2.5)$$

where participate the Stirling numbers of the second kind [5, 13, 17, 22]. From (2.3) and (2.5) it is possible to deduce results which are in harmony with Grosswald [12], in fact:

$$\begin{aligned} R_1(n) &= r_1(n) = \sum_{l=1}^n a(n, l), \quad R_k(1) = 2k! S_1^{[k]} = \begin{cases} 2, & k = 1 \\ 0, & k \geq 2 \end{cases}, \quad R_k(n) = 0, \quad k \geq n+1, \\ R_k(2) &= 2k! (S_2^{[k]} - S_1^{[k]}) = \begin{cases} 0, & k = 1 \\ 4, & k = 2, \\ 0, & k \geq 3 \end{cases}, \quad R_{m-1}(m) = 0, \quad m \geq 2, \quad R_{n-2}(n) = 0, \quad n \geq 3, \\ R_k(3) &= \frac{4}{3}k! (2S_1^{[k]} - 3S_2^{[k]} + S_3^{[k]}) = \begin{cases} 8, & k = 3 \\ 0, & k \neq 3 \end{cases}, \quad R_{m-3}(m) = 2^{m-3}(m-3), \quad m \geq 4, \\ R_n(n) &= n! \sum_{l=1}^n a(n, l) S_l^{[n]} = n!a(n, n) = 2^n, \quad n \geq 1, \dots \end{aligned} \quad (2.6)$$

Remark 2.1. The relation (1.3) is a binomial transform [3] whose inversion is immediate:

$$r_k(n) = \sum_{j=1}^m \binom{k}{j} R_j(n) \quad \text{with} \quad m = \begin{cases} k, & 1 \leq k \leq n \\ n, & k \geq n+1 \end{cases}. \quad (2.7)$$

Remark 2.2. It is easy to obtain the corresponding inversion of (2.5), in fact:

$$a(n, l) = \sum_{j=l}^n \frac{1}{j!} R_j(n) S_j^{(l)}, \quad (2.8)$$

with the presence of the Stirling numbers of the first kind [18, 22].

Remark 2.3. The application of (1.3) in (2.8) gives the inversion of (2.2):

$$a(n, l) = \sum_{j=0}^n b(n, l, j) r_j(n), \quad b(n, l, j) = \frac{1}{j!} \sum_{t=0}^{n-j} \frac{(-1)^t}{t!} S_{t+j}^{(l)}. \quad (2.9)$$

The quantities $a(n, k)$ can be written in terms of the partial Bell polynomials [6, 8, 15, 20].

Hence, our work shows that Jha's and Glaisher's expressions are related through Li's identity.

3 Sum of inverses of odd divisors of a positive integer

Now we consider the arithmetic function:

$$A(n) := (-1)^n n D(n) = (-1)^{n-1} n \sum_{\text{odd} d|n} \frac{1}{d}, \quad (3.1)$$

then is easy to obtain the values $A(1) = 1, A(2) = -2, A(3) = 4, A(4) = -4$, etc., thus it appears the sequence:

$$1, -2, 4, -4, 6, -8, 8, -8, 13, -12, 12, -16, 14, -16, 24, -16, 18, -26, 20, -24, 32, -24, 24, -32, 31, -28, \dots . \quad (3.2)$$

We visited the On-line Encyclopedia of Integer Sequences [27] and we find that (3.2) is the sequence A186690, therefore:

$$-\frac{1}{8} \frac{\vartheta_3''(0, q)}{\vartheta_3(0, q)} = \sum_{n=1}^{\infty} A(n) q^n = \sum_{j=1}^{\infty} \frac{(-1)^{j-1} j q^j}{1 - q^{2j}}, \quad (3.3)$$

that is, the quantities (3.1) are connected to the Jacobi theta functions [2, 7, 23, 28].

On the other hand, Prof. Michael Somos [21] indicates the following relation between sequences:

$$A186690(n) = (-1)^{n-1} A002131(n), \quad (3.4)$$

hence:

$$A(n) = \begin{cases} -(\sigma(n) - \sigma(\frac{n}{2})), & n \text{ is even} \\ \sigma(n), & n \text{ is odd} \end{cases} \quad (3.5)$$

involving the sum of divisors function $\sigma(n)$ [10, 25, 26].

4 Application of $R_k(n)$ in solving difference equations

Consider that for $k \neq n, Y(h, k; n) = R_k(n)h^n \forall k \geq 1, n \geq 0$ and when $k = n$, there exists

$$Y(h, n; n) = Y(h; n) = R_n(n)h^n = 2^n h^n \forall n \geq 0. \quad (4.1)$$

Since by (2.5) we have

$$R_k(n) = k! \sum_{l=1}^n a(n, l) S_l^{[k]}, R_k(n) = 0 \quad \forall k \geq n+1. \quad (4.2)$$

Then (4.2) satisfies the result

$$R_k(0) = 0 \quad \forall k \geq 1. \quad (4.3)$$

Theorem 4.1. If $k \neq n, n \geq 0, k \geq 1$ and $h > 0$, then $Y(h, k; n)$ of (4.1) satisfies a difference equation

$$Y(h, k; n+1) - \frac{1}{h} Y(h, k; n) = 0. \quad (4.4)$$

Proof. Multiplying by h^n in left hand sides of difference equation (4.4) and then summing up $n = 0$ to $n = \infty$, we get

$$\sum_{n=0}^{\infty} Y(h, k; n+1) h^n - \sum_{n=0}^{\infty} Y(h, k; n) h^{n-1}. \quad (4.5)$$

Applying (4.1), for $k \neq n$, $Y(h, k; n) = R_k(n)h^n \forall k \geq 1, n \geq 0$, in equation (4.5) we find

$$\begin{aligned} & (Y(h, k; 1) + Y(h, k; 2)h + Y(h, k; 3)h^2 + \dots) - \left(Y(h, k; 0) \frac{1}{h} + Y(h, k; 1) + Y(h, k; 2)h + \dots \right) \\ & (R_k(1)h + R_k(2)h^3 + R_k(3)h^5 + \dots) - \left(R_k(0) \frac{1}{h} + R_k(1)h + R_k(2)h^3 + \dots \right). \end{aligned} \quad (4.6)$$

Then in the relation (4.6) using the result (4.3) $\forall k \geq 1$, we get right hand sides of difference equation (4.4).

Hence, $Y(h, k; n) = R_k(n)h^n$ is a solution of difference equation (4.4) $\forall k \geq 1, n \geq 0$ and $k \neq n$. \square

Theorem 4.2. *If $n \geq 0$ and $h > 0$, then $Y(h; n)$ given in (4.1) satisfies a difference equation*

$$Y(h; n+1) - \frac{1}{2h}Y(h; n) + \frac{1}{2^{n+1}h^{n+1}} = 0. \quad (4.7)$$

Proof. Multiplying by $2^n h^n$ in left hand sides of difference equation (4.7) and then summing up $n = 0$ to $n = \infty$, we get

$$\sum_{n=0}^{\infty} Y(h; n+1)2^n h^n - \sum_{n=0}^{\infty} Y(h; n)2^{n-1}h^{n-1} + \frac{1}{2h}. \quad (4.8)$$

Now, applying (4.1) for $Y(h; n) = 2^n h^n \forall k \geq 1, n \geq 0$, in equation (4.8), we find

$$(Y(h; 1) + Y(h; 2)2h + Y(h; 3)2^2h^2 + \dots) - \left(Y(h; 0) \frac{1}{2h} + Y(h; 1) + Y(h; 2)2h + \dots \right) + \frac{1}{2h}. \quad (4.9)$$

Since in formula (4.1), $Y(h; n) = R_n(n)h^n = 2^n h^n \forall n \geq 0$, which for $n = 0$ gives $Y(h; 0) = 1$, therefore in (4.9) putting $Y(h; 0) = 1$, we get zero, therefore right hand side of equation (4.7) is satisfied.

Hence, $Y(h; n) = R_n(n)h^n = 2^n h^n$ is the solution of equation (4.7). \square

5 Conclusion

In this paper, we deduce the formulae for the sum of inverses of odd divisors of an integer n by Jha [4, 14] and Glaisher [9,11]. Again, we exhibit the expressions related by certain identity of Li involving the number of representations of n as a sum of squares. In the Section 4, we search some of the difference equations satisfying the function given by

$$Y(h, k; n) = \begin{cases} R_k(n)h^n & \forall k \geq 1, n \geq 0 \text{ and } k \neq n; \\ R_n(n)h^n & \forall n \geq 0 \text{ when } k = n. \end{cases} \quad (5.1)$$

Acknowledgement. We are very much thankful to the Editor and Reviewers for their valuable suggestions to bring the paper in the present form.

References

- [1] G. E. Andrews, S. Kumar Jha, J. López-Bonilla, Sums of squares, triangular numbers, and divisor sums, *J. of Integer Sequences*, **26** (2023), Article 23.2.5
- [2] R. Bellman, *A brief introduction to theta functions*, Holt, Rinehart & Winston, New York, 1961.
- [3] K. N. Boyadzhiev, *Notes on the binomial transform*, World Scientific, Singapore, 2018.
- [4] H. E. Caicedo-Ortiz, J. López-Bonilla, Expressions of Glaisher and Jha to obtain the sum of inverses of odd divisors of an integer, *Comput. Appl. Math. Sci.*, **6**(2) (2021), 23-24.
- [5] R. C. S. Chandel, Generalized Stirling numbers and polynomials, *Publications De L Institut Mathématique*, **22** [EleKtronische Ressource (36)] (1977), 43-48.
- [6] L. Comtet, *Advanced combinatorics: the art of finite and infinite expansions*, D. Reidel, Dordrecht, 1974.
- [7] S. Cooper, *Ramanujans theta functions*, Springer, Switzerland, 2017.
- [8] D. Cvijovic, New identities for the partial Bell polynomials, *Appl. Math. Lett.*, **24** (2011), 1544-1547.
- [9] L. E. Dickson, *History of the theory of numbers. II. Diophantine analysis*, Chelsea Pub. New York, 1971, Chap. 9, p. 309.
- [10] G. Everest and T. Ward, *An introduction to number theory*, Springer-Verlag, London, 2005.
- [11] J. W. L. Glaisher, Theorems in partitions, *Messenger of Maths.*, **5** (1876), p. 91.
- [12] E. Grosswald, *Representation of integers as sums of squares*, Springer-Verlag, New York, 1985, Chap. 6.

- [13] A. Iturri-Hinojosa, J. López-Bonilla, S. Vidal-Beltrán, Some expressions for Stirling numbers of the second kind, *European J. Appl. Sci.*, **11**(4) (2019), 1-3.
- [14] S. Kumar Jha, An identity for the sum of inverses of odd divisors of n in terms of the number of representations of n as a sum of squares, *Rocky Mountain J. Maths.*, **51**(2) (2021), 581-583.
- [15] H. Kumar, M. A. Pathan, M. Muniru Iddrisu and J. López-Bonilla, Polynomial expressions for certain arithmetic functions, *J. of Mountain Res.*, **18**(1) (2023), 1-10.
- [16] W. Li, Singular connection and Riemann theta function, *Topology and its Applications*, **90**(1-3) (1998), 149-163.
- [17] J. López-Bonilla, S. Vidal-Beltrán, A. Zúñiga-Segundo, On the Goulds formula for Stirling numbers of the second kind, *MathLAB J.*, **1**(2) (2018), 224-226.
- [18] J. López-Bonilla and G. Posadas-Durán, On a recurrence relation for Stirling numbers of the first kind, *Studies in Nonlinear Sci.*, **5**(3) (2020), 43-44.
- [19] C. J. Moreno and S. S. Wagstaff Jr, *Sums of squares of integers*, Chapman-Hall/CRC, Boca Raton, Fl, USA, 2006.
- [20] M. A. Pathan, H. Kumar, J. López-Bonilla and H. Sherzad Taher, Identities involving generalized Bernoulli numbers and partial Bell polynomials with their applications, *Jñānābha*, **53**(1) (2023), 272-276.
- [21] Private communication.
- [22] J. Quaintance and H. W. Gould, *Combinatorial identities for Stirling numbers*, World Scientific, Singapore, 2016.
- [23] R. Roy, *Elliptic and modular functions from Gauss to Dedekind to Hecke*, Cambridge University Press, 2017.
- [24] R. Sivaraman, J. López-Bonilla and S. Vidal-Beltrán, On the polynomial structure of $r_k(n)$, *Indian J. of Advanced Maths.*, **3**(2) (2023), 4-5.
- [25] R. Sivaraman, J. D. Bulnes and J. López-Bonilla, Sum of divisors function, *Int. J. of Maths. and Computer Res.*, **11**(7) (2023), 3540-3542.
- [26] R. Sivaramakrishnan, *Classical theory of arithmetic functions*, M. Dekker, New York, 1989, p. 233.
- [27] <https://oeis.org/>
- [28] <https://mathworld.wolfram.com/JacobiThetaFunctions.html>